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PART A Short Answer

1. ldentify the following types of functions, giving the range and domain of
each. Assume that the function extends to infinity and the given scale is 1
to 1. Also give one real-world example of each type of function. Your
example does not need to fit the data — only the general type of function.
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2. Calculate first and second differences and identify
the type of function X Y
1 -5
A =
%ﬂb 2 -4 3
3 1 5 pa
X y 4 | 4 2.
-1 0 ?
0 1 5 | 11
1 1
2 2
3 2 2 g
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3. Write ——as a single power.

. 3
4. |dentify each of the following as a func@g or mn—fun@.

? ?‘@dﬂm b&% - ’

5. Give the following domain in set notation.

4 2 0 2 4 & \>:‘ E/XGTK ~2'§'7<-<f‘f?>

6. Given f(x)=-2x+1, find £()-37(-2)

S - 20+ = 1 SO-35(2)
N = =2 (2)+| 7O :"’“j”§(§)
" o /*:-—"I“'féy": -1 F

7. Factor fully 2x? —2x-24.
=2 (= -2
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8. State the zeros of g(x) =—x(x+5)

9. State the range of y=—x"+2

10.Find 14% of $325.

3)5 « 0. 14= "‘FS 50

11.Find @ to the nearest degree if sin(©) = 0.25

(o 25)< |HYTE =

12. Solve for x in the triangle.

“%’va\ L{gm = \wq L
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13.The algebra tiles area model represents a quadratic
where is positive and is negative.

Write the equation of the quadratic in;
a) standard form

‘QNZ%B

ctared form

4= (%‘“"D‘> @HZ’)




17. Sketch the graph of y=3".
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18. Find the number of real roots of g(x) = — 4x2 + 5x - 3
Discriminant = b2-4ac

= (5)-4(-4)(-3)
=25-48
=-23 therefore no real roots ﬁ,

PART B Long Answer

19. Given h(x) = x% + 5x — 24, find the

i
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c) vertex %mww — """2’%:; Mé—v
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20. Find the equation of the quadratic functions that has zeros of -1 and 5 and
passes through the point (-3, -32).

= (& (/}{-r 0 CO&“5>
S m C”?}“%Z'f}
gy a(-340(375)
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21. The following table shows the depth of glacier ice over time. If this frend continues,

a) Find the depth at 7 years. e QJC(-T &
25X®’? :Qb OMQS >0*8
1 76 ]
b} Find the equation of the function. 2 61 ﬁ> 0. %
3 9 L2093
0 %} ks : 00
— 5 31
‘J((% - QS( " 5 D00 ¢
7 XP)

22. The following chart shows the number of daylight hours on the 218! day of
each month for a one year cycle. o

o | e 34 T L FNY T Mo
Month | Mar {Apr |May |Jun [Jul | Aug |[Sep {Qct | Nov |Dec {Jan | Feb
Hours | 12.2 {137 |14.9 | 154 (149 [13.7 122 | 108]95 |90 |85 1108

a) Plot the points and draw the line of best fit.

a [ 2 3% 4 <L 3+ 8 § Is I [L @W\F:S*Z’

b) Find an equation to model the data.

f{&} =3, n %(’X) +]2. 2~
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23. Given triangle ABC, where b = 15, ¢ = 12 and angle A = 287, find side length a.

O . pe oty
5L 2({2)@5)(,53—1\5
- S5 rigd 300(0%929)
A 5 —C L3,9-31hY

- 5|2

= 5l
0= AZ(n = ?‘2.

24. Sketch y = 3sin (x} + 1 for one cycle.

QA

y r

25.
Compounded annually Compounded monthly
y=10 000(1.06) y=10 000(1+.06/12)*
= 10 000(1.005)*
y=10 000(1.06)° = 10 000(1.005)10"2
=17 908.48 = 10 000(1.005)120
=18 193.87

Therefore compounded monthly yields more interest compared to compounded
annually, given the same annual interest rate.



26,

Start at age 20 Start at age 50
N =45 N=15

I=6 [=6

PV=0 PV=20

PMT =-1 000 PMT = - 3000
FV =212 743.51 FV =69 827.91
PIY =1 PIY =1

C/lY =1 CrYy =1

Investing early pays off |

27. A bacteria culture doubles every 5 hours.
a) Write the equation of the growth function if there are 500 bacteria to start.

Hrg) = 5 OO(L) %

b) How many bacteria will there be after 20 hours?
20 _ 1 geswth pou

20 s - 500(2)"
S §(¢1\:§ oo (It) =060
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